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B sz BRE S out IN GROSS | HDCP NET

| BiR 2F 38 41 19 14.0 65.0
AN 1= 43 38 81 13.0 68.0
M kR B 39 43 82 14.0 68.0
MusH F= 43 38 81 12.0 69.0
S5GL B M 38 40 18 9.0 69.0

661 thFt & 38 41 19 10.0 69.0

THL |2 T % 39 39 18 8.0 70.0
86L| KM FRi* 44 35 19 8.0 71.0
Ofii kEH =RX 45 39 84 13.0 71.0
106z’  B1E 42 40 82 11.0 71.0
NG kA EE 43 42 85 14.0 71.0
1241 | = 5 = 42 42 84 13.0 71.0
13| vl & 36 39 15 4.0 71.0
14461 3RO #R1E 43 43 86 14.0 12.0
156z & £ 39 41 80 8.0 12.0
1661 &tk F* 39 44 83 11.0 12.0
[RAUAD:{:: 38 48 86 14.0 12.0
186z | BIFF [E5 42 44 86 13.0 73.0
1947 | B8 IER 40 43 83 10.0 73.0
2043 | BRA  =[E 39 42 81 8.0 73.0
yARUAEJ:: BN 2= 45 39 84 10.0 74.0
2261 \fiA IR 42 42 84 10.0 74.0
2300 | M A 43 44 817 13.0 74.0
240 BR =2 40 43 83 9.0 74.0
2561 # £  KEB 39 42 81 1.0 74.0
26061 FH KR 317 41 18 4.0 74.0
216 BIREA F= 45 42 817 12.0 75.0
2861 LA RR 39 46 85 10.0 75.0
2961 #2E B 47 42 89 13.0 76.0
06z 8)Il RF 45 45 90 14.0 76.0
S| ZRAR =X 43 44 817 11.0 76.0
KYAAD- - - 41 42 83 1.0 16.0
33 AL HFH 43 47 90 14.0 76.0
34| RED  FER 44 47 91 14.0 71.0
35 HhFE  EiE 42 47 89 12.0 71.0
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6| tHRHE EI 45 43 88 10.0 18.0
3THL | #E KL 45 45 90 12.0 18.0
38fiL HhFE EHHR 43 45 88 10.0 18.0
394 | EBF  4FE 43 45 88 10.0 18.0
4061 BE fE— 41 49 90 12.0 18.0
MELEE —X 45 45 90 11.0 79.0
4241 EE4# 2] 44 48 92 12.0{ 80.0
436 BE R— 46 45 91 10.0{ 81.0
4461 BH =K 44 47 91 10.0 81.0
4561 | & EZ 51 44 95 13.00 82.0
460 FRFE BR— 46 46 92 10.0 82.0
4761 BH = 43 93 96 13.0f 83.0
4861 | R KRz 47 90 97 13.0f 84.0
4961 EIR &S o4 92 106 13.0 93.0

N R/RE = 0 -99.9 99.9
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